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FIRST PART
PR L

CHILD DEVELOPMENT AND PEDAGOGY

1.

Which stage of child development is termed
as the best stage for language learning ?

(A) Infancy (B) Pre childhood
(C) Mid childhood (D) Post childhood

What is the nature of socialisation ?
(A) Unconscious process
(B) Occasional process

(C) Interactional process
(D) None of the above

A teacher is teaching students that they
should not get irritated with others view
even if they are against their views. He is
taking care of their

(A) Cognitive development
(B) Emotional development
(C) Physical development

(D) Social development

The basis for the development of the
curriculum is

(A) Aims of Education

(B) Social Need

(C) Both (A) and (B) above

(D) None of these

An example of lowest form of learming is
(A) Basic instinct behaviour

(B) Conditioned response

(C) Intuitive behaviour

(D) None of the above
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Which of the following strategy is related 6. HET Rgror-aftrm 31 fmanatt # ﬁ‘“ﬁ %ﬂ
to the development of post adolescence in frerifiea & @ FA-d wHifa 3T R
improving the classroom teaching learning FRemageiEa g ?
interactions ?
(A) Activity based presentation (A) e smaTfa sRafa
(B) Imitative work in class (B) e & ITHONHS
(C) Free reciprocation of thoughts with (C) fa=mi ¥ g AEH-TCH & T

idealisation FTesfis
(D) Reading and writing (D) <4 a=F T§ dEA
According to Gene Piaget in which of - Dion |

. el 7. <% fa & AR foeg arEer 3 W
the following stage linguistic ability and [ EuTfieraT %1 qaite e ?
communication is developed to maximum ™ - TR
extent ?
(A) Sensorimotor stage (A) 3f=aefa e s
(B) Pre-operational stage (B) qE-Hisparcas raed
(C) Concrete operational stage (C) ¥ EfshaTcHe ATl
(D) Formal operational stage (D) 3nyd EfseaTare raeT
In which stage of social development 8. wmfveh fash @ Hefta fopm wwor o =afa
human can give up his own interests on , T 3R U F ga faal F a9 faa
account of the greater interests of group, :;Em "Ea 3.(:;;
society and nation ? )
(A) Late Childhood (B) Adolescence (A) ST ETeaTEE (B) fRwirEwen
(C) Adulthood (D) Old age (C) Wrerawe (D) ggrEEn
According to the theory of moral 9. wreET ¥ M em ¥ fgm ¥ FER
development given by Kohlberg, which ' TSP G ST T S A .
of the following is ‘not’ a stage of moral A & 39 A e
development of child ? ST T R 7
(A) Law and order orientation - (A) FHT T HEET FNf=T
(B) Ego-centric-social centric orientation (B) WHf=a wnrw Hfzw st
(C) Social contract orientation (C) wmiR ey Afg@Ear
(D) Punishment and orientation stage (D) TS 7Y I FvgEar
The process of learning in which learners | 10. iR & & wiwan e Tl )y # 3o
are moved from their initially demonstrated g weRia amatt & sifem sifdr sraan
abilities to the final expected behavior o o T ST B
(A) Banking Model (A) dfeT AT
(B) Programming Model (B) shnfim wrew
(C) Constructive Model (C) wATaTd! "rse
(D) All the above - (D) IR wft
W & & fo
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11.

12.

13.

14.

15.

Accorc_ling to Piaget, there is a concrete
Operational stage in the cognitive
d:velopment of children

(A) 8-15years (B) 7-11years

(C) 0-8years (D) 15-18years

What does cognitive development mean ?

(A) Personal development
(B) Development of Aptitude
(C) Development of the child

(D) Development of physical skills

Wha? is the injury in respect of a child with
special needs ?

(A)
(B)

Tissue deformed by birth

Absence of part of any part of the body
or reduced ability to do its work

(C) Problems in establishing social
harmony in the environment

(D) All the above

What type of knowledge should a teacher’s
teaching process focus on ?

(A) Inductive

(B) Empirical

(C) Both (A) and (B)
(D) None of the above

According to the Right to Education Act
2009, which statement is not correct ?

(A) Govt. teachers can't take their own
private tuition except at school.

The responsibility of providing free
education to the children rests with

Central and State. .
The age of free education for children

with special needs has been increased
from 14 to 18 years.

Childrens can take admission in the
school according to their age.

(B)

©)

(D)

1.

12.

13.

14,

15.
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16. The ‘Mental Development' of child refers
1o o i B) wheddl
(A) Understanding (B) Imagination (A) &4 ((D; B G
(C) Reasoning (D) All of the above (C) T
. TR 8w 8, 7 f
17. The cause of aggression may be social 17, 3RMEHAT hl hRYI 8 t
rather than
(A) Psychological (B) Biological (A) TR (B) Sfaamfas
(C) Physiological (D) Both (B) and (C) (C) v g gl (D) (B) W (C) M
18. Which of the following sets of statements 18. Ry e FoA F U & 30 P a7
do you fully agree with ? .
1. A classroom that includes children 1. % wa el (S yor & el
from social, cultural and economic Fiehos S TIF gy & w= i
backgrounds enhances the learning 2, oft 3 e Sl & &g R
experiences of all children, ’ '
2. Children learn many skills from their 2, W= 3 HIFE & 3 AN diaa §)
peers,
3. Growth and development in children ST AE T 3
proceeds at a similar rate. 3. i %T ?ﬂ? A «
4. The theory of contract advocates a - : *
. 4. FqEYA w1 fagia o F IES
sudden solution to the problem. ) TH F@ 2|
(A) Statement 1 and 4 (A) T 1 30 4
(B) Statement 2 and 3 (B) Fu 2 3tk 3
(C) Statement 1 and 2 (C) Fu 1 3 2
(D) Statement 3 and 4 (D) HYT 3 3#{ 4
19. The cornea of Roopa's eyes has dried up | 19, ®qr a; Jt@t i wiif @S R IR feram
and she has lost her sight. Under which T W B W ? | 39 w7 F) feg e ¥
group would you work with Roopa ? Sita TR = 7
(A) Disability (B) Damage (A) 3r9mar (B) afy
(C) Incapacity (D) General (C) raman (D) W=
20.  The purpose of inclusive education was laid 20. TN sTavawar et T % Rt wraeh e
Lour rc::)ig?: with special needs, whose main 1 TS @1 T R | R T T ?
(A) Increase in the spirit of cooperation in (A) F&n 3 T )y
the classroom X
(B) To give them a sense of sympathy (B) 3= TEfe %1 wig ﬁ-‘m %
(C) Can learn to adjust to the normal (C) e it W= whiwanatt & arerder faramam
processes of life @ w*
(D) Can Educate them (D) 3% fufda & o
% &/ & e wm
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21 Hfo:; teacher recognizes the problem | 21, T 3 AT - AT HaY a4 B A
of difficulty in formin io-emotional |
Sonnecon s c:h"dren{.]?socno emoti ) T . W R HA 7R 7
(A) Observing his behaviour in (A) fr=-fire afRfidt 3 30 =ER #
different situations FEATHA T
(B) Guessing (B) I TR
(C) By measuring (C) wE
(D) Asking parents (D) qreTst 3 B
22. g::cial development is essentially a matter | 22, wwIf fw a9 & @ R §
(A) OCIO.d‘:I?"“ﬂY of the demands of social | (A) e sraen i AFl = IR
(B) Integration of one's purposes with | B) WM Sael & IR & Y @4 &
those of the social order ®) Wﬂm
(C) Achievement of social security and (C) wmIR Gea Td wfwriar Y IJyere/
acceptance ey
(D) The development of social circle (D) s g9 @ fawm
23. According to B. F. Skinner, development of | 23. 1. T%. feF=R & argar wdi #f wrardt fwm
language in children is the result of Frafafga +1 afom 2
(A) Training in grammar (A) SITH T TFIEHT
(B) Imitation and reinforcement (B) ITFV T e
(C) Innate abilities (C) S=¥aTa IrgaTd
(D) Maturation (D) uitgm
24. Good learning depends upon 24. 3= it fnfe e R
(A) Teacher (A) Fes w
(B) Active interest of students (B) B # |fky I W
(C) Good teaching methods (C) 3=t fheror Riftet w
(D) Appropriate use of teaching aids (D) T TEws TmBE % TRRE I™T |
25. The process of Learning in which the child | 25, i@ ! 3% wfskan fred w= 7 M = 3N
incorporates new knowledge into his old 3“:" i & e o
schema
(A) Accommodation (B) Assimilation (A) WHESH (B) SNSRI
(C) Organization (D) Equilibration (C) =aaw M+ (D) wgEER
@ & & fog e
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26. ‘“lfachildis giventask that s litlle difficultfrom | og “q=y @1 fem ™1 e &7 3 W ey
his level, then he connects better and leams.” wfewer A, 1 4 gt 5 I A ¥
Which area of development of children Ny Iyt FUA H T % foy
is indicated by Lev Vygotsky in above o g ?r 27
statement ? ¥ fr & ) §ff R R
(A) Schema (A) = i
(B) Potential Growth Area (B) @wifed ferpra %1 &

(C) Zone of Real development (C) aredfae faw@ &
(D) Zone of Proximal Development (D) wHT™ fowra &1 &7

27. 'Scaffolding’ means the work thatthe child | 7. “ewifeen @ A R T F1 S AT
(A) Easily able to do by himself (A) T T & F I 2
(B) Do it with the help of friends (B) it 1 weg & T 7 B
(C) Do it with the help of teachers () firerent i weg & FC
(D) Unable to do by himselt (D) w4 &0 & e @

28.  Factors affecting growth and development | 8. gfe @ fowma F TG F AT e §
are
(A) Heredity (A) AR
(B) Physical conditions (B) M T
(C) Social and cultural conditions (C) wmfyreh Td Hiwhiaeh ST
(D) Allthe above (D) I T+t

29. What skl will a child have the opportunity to | 29. Tt & Rectit = ¥ 3 & aferemt = oy
develop while making toys by clay ? FH Q P B mE = Ee fem
(A) Gross Motor Skills (A) TS AT I
(B) Fine Operating Skills (B) q& forarers et
(C) Fine Motor Skills (C) & TRITeHS A
(D) Al the above (D) I wft

30. ‘Understanding with the help of concrete | 3p. i wifRafedt % wemm @ wwey W S

oty Bdiwal ; =
:ta gae'??ns is related with which of the following referfae 3 2 g Awafm d 7
(A) Social development in childhood (A) e ¥ g e
:2; I:anlal dalv:Ioprlnant in G:1I|dh00d (B) wreareren # s R

motional development in .
adolescence (C) foruireren % wiafire fasra
(D) Mental development in adolescence (D) Prvreen # Wfew frem
" w1 % g wum
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SECOND PART
firdfra wm
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== 1o 2 et i 4, i sy e - R T T R A A
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(C) g TWT F<A X HE V&g &

(D) 9gaR Y4 TgW F|

frifea § FR-81 999 g=91 6 TR HEa

3w Tl R 7
foz

7w R £,
C 1G]

¥ 3 g T T @ AN i Wit I I A HGR
71 e, 3@ o w9 ot W R § w § 5 Fal
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a9 3§ §, - o witew @ e
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¥ 8z Bt &, wemer w9 F dd A e e W
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R 6w SR TR B ST B, WA T HAHR
e AR - Eh e wd @ S @ yeE T R,
TF ¥ Y i 2 gt R 7

37. IYW TOW F W ¥ AGSH A UGH @
T R

(A) Y T Y FEAEl

(B) Wi @ren

(C) Sitaa & 3W F1 vEw

(D) Y% ugsa Y ot/

¥ fawmm # wed 3rfte wEEw R 7 38. e ¥ R R Mo 7 et s -
() o 3keh of . v, 3 s et & ) et et e 8 7
(B) ™ geent At w1 R AW R 7 (A) 3w 3R F7E
(C) ?mmmmﬂvﬂmmm (B) =i Wiem

? afera WA
D) ' IR O T (©) wgfem
®) &%, + (D) ¥ wfewat sk we

™ w1 % wm
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(A) T= g T 9% 9
(B) wedt # forad # wfzaré vt
(©) W drad § el ® wwen wd R
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PART

e W
ENGLISH/ 3=t

Read the following passage and answer question |
61-67.

Once a young woman sought her mother’s help as
she was unable to cope with her problems. She

was filled with self pity and remorse and cried her
heart out to her mother.

“| can't take anymore of this struggle and problems.

They seem never ending and | just don't know what
to do", she wailed.

Her mother listened to her patiently. She then took
her daughter to the kitchen and poured water into
three pots and let them on the stove. The mother
placed some carrots in the first pot, eggs in the
second and coffee beans in the third.

After a while, when the water started boiling, the
mother removed the carrots and the egg from the
pot and placed them each on a plate. She then
strained the coffee decoction and poured it into a
mug. She called her daughter to have a closer look
and asked her as to what she had seen.

“They are carrots, eggs and coffee. That's all’, said
the daughter.

“I want you to come and feel each of them”, said
the mother. As the daughter did so, she noticed
that the carrots which had been hard had become
soft. The eggs which were brittle earlier had now
turned into hard boiled eggs. And finally the coffee
had an appealing aroma about it that was so
appetising. As she looked towards her mother for
an explanation, the mother said, “Did you notice
that all the three products were subjected fo the
same treatment-boiling water-but each one was
transformed differently. The carrot was hard and
crunchy but became completely soft after being
boiled for a while. The boiling water made it weak
and soft. The opposite happened with the egg.
The egg that was so fragile and required careful
handling had now become so hard, that the outer
layer could easily be removed.”

“What about the coffee beans ?" asked the
daughter.

differently. It
i beans reacted very ly. |
cﬁzag%cgffhee boiling water complrﬁt:[y. making it
absorb its characteristlcg and aro > N
“But what are you trying to say'!

daughter.
"Ym%I keep grumbling about your probloet:nasrsrfw;:t cgeé
them get the better of you. Next tmje.yc s

with problems, just ask yourself this : Or}n b e
boiling water as your adversities. Are you go ?hrou nr:
soft and weak like the carrot when you gohard agd
boiling water or are you going to bec*::'ncwj e

strong like the egg when you aré tosse ah s y
adversities ? Or are you going to be like the. f r?e
beans that totally changed the very adversity tat
was trying to consume it. It changedthe boiling water
into aromatic coffee. Or in other words it changed the
circumstance to its advantage and made it pleasant
and appealing. Are you going to be like the carrot,
eqg or coffee beans ?" , asked the mother.

= -1 e
ot i

Moral : When adversity stares at your face, be
strong and think of ways to turn the situation to

favour you. Be bold and don't let the situation
overwhelm you.

61. How did the boiling affect the carrots and
the eggs ?

(A) Both became hard
(B) Both became soft

(C) The carrots became soft and the eggs
became hard
(D)

became soft

@ & &

The carrots became hard and the eggs
oo o

Space for Rough Work
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62. Which of the following words describe the ‘
daughter’s nature ? [

67. What did the mother want her daughter to

become like ?
The mother wanted her daughter to

' A
(;) aiways brave | 2 become like a carrot
(®) aways happy (8) The mother wanted her daughter to
(C) always complaining become like an egg
(D) always cheerful (C) The mother wanted her daughter to
63. H ' . become like coffee beans
iy did the coffee beans react after being (D) The mother wanted her daughter not
boiled 7 to become like coffee beans
(A) They completely absorbed the Instructions : Read the following passage and
i answer Q. No. 68 to 75.
(B) They gave the water their bad smell | Namita Gokhale’s latest nove-ll remin(fis us of the
human cost of the pandemic, lest we forget.
(=) ey thems_elves became “What did the virus look like?” Matangi-Ma, the
colourless like the water blind matriarch and the central character of Namita
(D) They gave the water their qualities and | Gokhale’s novel wonders, “Did the virus have
sweet smell feelings ? Was it angry with the world ? “ As we
grapple with the uncertainities created by another
64. Fill in the blank with the most appropriate | variant of the corona virus, her question’s seem
altemmative given below. opposite. The pandemic has warped our sense of
time and space. While the days drag, months fly by.
The motherwasvery . The holiday paradox explains this distortion in time
(A) coward (B) intelligent perception the fewer the memories from a period, the
(C) showy (D) silly shorter its remembered duration. The scant number
of experiences for some of us during the lockdown
65. What is the moral of the story ? has made us think of them as interludes, brief
’ periods of in convenience to be skimmed over.

(A) Change bad time into good one
(B) Be weak during your bad time
(C) Keep complaining about bad
time
(D) Be hard and ill-mannered during your

The Blind matriarch stops us in our tracks. It is a
reminder of the human cost of the last two years,

lest we forget .
68. Which of the following word would come in
the blank space of the following sentence ?
He let his fingers skim the back

-13-

bad time
of the pet.
66. What did the mother do with the carrots, (A) off (B) across

eggs and coffee beans ? (C) over (D) none of the above
(A) She boiled each separately 69. The passage is about the following
(B) She boiled them together in the same (A) Spread of Corona Virus

pot (B) Lock down during the spread of

—_ K Corona Virus

(C) She boiled them to make a curry (C) Position of blind matriarch during the
(D) She boiled each of the eggs Pandemic

separately | (D) All of the above

W T & fere wm
Space for Rough Work
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70.

71,

72.

73.

74.

75.

76.
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ads the passage an,

“\

A teacher ™

The “Scant” number of experiences. Here 7. tions 10 the students. (The Sty
Scantls Used as.an QUEST e the textwith them). The )
(A) Adjective  (B) Adverb oon tn improve the students’ Ty
(C) Phrase (D) None of the above = ng_ - kills
Which of the word is not synonym to the (A) wnt;rlwg "
word “Grapple with” ? () reading skills
(A) Struggle (B) Tussle i C) listening skills
(C) Scuffle (D) Brittle | 0) speaking skills
Which of the following sentence is correct | . . :
with the reference of the passage ? | 78, Astudentis n?adlng fast, |00|klng for .
(A) What did the virus look like | information {n an manuaq. What i thy
(B) What did virus looklike reading sub skill known &
(C) What virus looked like (A) Skimmyg
(D) None of the above (B) Scanning din
a

The word paradox means (C) Bo.tfom up r? 9
(A) parallel to each other ; (D) Critical reading
(B) strange or impossible together
(C) opposites
(D) putting similar things together 79. Ateacherselected g text froma Newspapy
“Lock down h o and dropped every fifth word and asked

own has made': us think’ learners to supply the missing words. Whg
Above sentence is written in \
(A) Active voice is a test known as ?
(B) Passive voice (A) A cloze test
(C) (A)and (B) both (B) An open test
(D) None of the above (C) Avocabulary test
One word for different types of Corona (D) A writing test
Viruses is
(A) Streaks  (B) Varieties 80. What are the three components of PP
(C) Variant (D) None of the above model of teaching ?

A) Pres ion — ice —

The four basic language skills are = Pr dem'a“on rractee
categorized under two broad heads called BaiGon
(A) Listening and speaking (B) Product - Practice - Present
(B) Receptive and productive (C) Pre-teaching - Practice teaching-
(C) Reading and writing Produce result
(D) Presentation and production (D) Pre-teaching - Practice by teaché’ -

Q Space for Rough Work
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81. E:::zagr;d television programmes, public | 86. What skill among the ones given below
stations arr“gwncemants (alrports, train/bus that cannot be tested in a formal written
customer & 8tores), speeches, telephone examination ?
of 8rvice recordings are means (A) Reading for information
(A) two-way communication (B) Meaning of words and phrases
(B) device mode communication (C) Extensive reading for pleasure
Eg; :He“"ﬂy communication (D) Analysing texts

0 Ateam::natlve mode communication 87. What does fluency in reading mean ?
t0 Make &asks herleamers to join sentences (A) Ability to read a text at ease with
supplied connshort paragraph, inserting expression
like (but, an ectors and coherence markers (B) Ability to read a text without any
etc.). » =11t however, because, although, mistake at all

(C) Ability to interpret the text
The teacher is trying to improve in the (D) Ability to read without any
?L‘;dev’;‘s skill. grammatical errors
ritin i
(C) LISten?ng Eg; gs:g:.:rg] 88. Which of the sentences is not true ?
83. Which o 9 Children use language as a tool —

' Ich of the following is not a visual aid ? (A) to communicate and they store

(A) Television information

(B) Radio (B) to maintain their relation with the

(C) Flash cards society

(D) Charts (C) to understand, apply the words and
_ : sentences and generate new ideas

o \rz::ggia?ft;:cehi:‘c;llgvV|ng s the base of (D) to understand paralinguistic
(A) self test communication
(B) placement test 89. We speakto different people differently even if
(C) diagnostic test we are speaking on the same topic. The way
(D) aptitude test we narrate an incidence to our teacher would

be different to the way we narrate it to a friend.

85. After reading a poem, a teacher involves the This signifies aspect of language.
learners in group work. One group writes (A) Psychological (B) Social
the theme of th$h poan|1. :;oth;r dravgs at (C) Individual (D) Spiritual
icture to depict the main character and ye
gnother wﬁtgs the summary of the poem. | 9° ;rnl?nf?m: u'g ;ble to leam a language
This activi
(A) Is air;yed at learners to prepare for (A) the lack of interest in the language

assessment (B) the lack of opportunities to use
(B) will distract the leamers language
(C) aims in engaging the children (C) herilh.|§ interest in sports and cultural
(D) caters to diverse abilities and interests activites
(D) dyslexia
of the learners
% & & g wm
Space for Rough Work
-15-
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FOURTH PART

MATHEMATICS

91.  "Mistakes of children are helpful in learning”.

Who has given this thought ?

(A) Bruner (B) Vygotsky

(C) Paulo Freire (D) Piaget

92. Which of the following statements are

included in ‘Model of Learning' ?

1. Understanding, what it means to

learn.

2. Understanding the nature of
subject.

3. Understanding the methods of
learning.

4. Understanding. how do children
learn.

(A) 1,2,3 B) 1,24

(C) 2,3,4 (D) 3,4,1

93. Speciality of a constructive class is
1. Teacher helps children to explore.

2. Children have enough opportunity to
practice.

3. Children can discuss among
themselves.

4. Teacher provides liberty to children
to ask questions and put their

el W fora

o1, vl et ¥ e Eramg,
forgrt o 7 |

(A) T
(C) et

(B) armie
(D) Fars

g2, ey & miEd H FA-BH W ap By,

ardi &7
. gy w1 ol R, T

0. faya awg H wHia H wmy |
3, de i faftr i wmy

4. w= & e &, wh g

(A) 1,2,3
(C) 2,3, 4

B) 1,24
(D) 3,4,1

93. m@mmﬁﬁmﬁ
1. R @ 01 3 =t ) meg g
o ﬁ%wm?@aﬁmm
A2 |
3. aﬁ@-@}ﬂﬁ'ﬂ'ﬂmiﬁ{mil

4. Towes o=t = w93 g ol @

@ & AT 3 |
points.
(A) 1,2,3 (A) 1,2, 3
(B) 2,34 (B) 2,3, 4
(C) 3,4,1 (C) 3,4,1
(D) 4,1,2 (D) 4,1,2
R Q 'S Space for Rough Work Wi
i\t\ &*L i ! Q{1 0 ) &¢ Set-0
Q- & .
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94. Theratiobetween the length and breadthof | 94, & 3ameT T 1 ward 3 <heré & =
a rectangular park is 3 : 2. If a man cycling | 1 3T 3: 2 B | AR O =R 12 km S
along the boundary at the speed of 12 km | w2 &) iy | v Y dim T anfee e
Perhour completes one round in 8 minutes, | g fire 3 TE FE G0 BT 8, 1 TTh B B
th::-lnbthe area of the park in square meter | it e & g
will be
(A) 15360 sq.m. (B) 153600sqm. | (r) 153607 et (B) 153600 T X
(C) 30720 sq.m. (D) 307200 sq.m. (C) 30720 = fex (D) 307200 T H&X
95. A cuboid of dimension 24 cm, 9 om and | 95. 24 ¥, 9 ¥ T 8 At it At o TN
8 cm is melted and smaller cubes of side  foereman s & 3t 3 &t o It B '
3 om are formed. How many such cubes TR TR 2 | 36 TN & W@ R W e m
can be formed ? T EFA BT
(A) 64 (B) 56 (A) 64 (B) 56
(C) 48 (D) 40 (C) 48 (D) 40
96. A cube is 7 cm of an edge and another | 96. T TR # PR 7 It & M TF G T F I
cube is 14 cm on an edge. The ratios of 14 3ft R, 37 T8 % & 1 I R
their surface areas are
(A) 4:1 B) 1:4 (A) 4:1 B) 1:4
(C) 1:2 (D) 2:1 (C) 1:2 (D) 2:1
97.  Which sequence is correct to representthe | 97. AT Tgfa i WO wiw J@en Hi g
hierarchical chain of number system ? FH & fou sH-wr T E@ R 7
(Where N — Natural Numbers (S8t N — ST Ee@md
W - Whole Numbers W — q:ﬁ gEand
Q - Rational Numbers Q - gfer gt
Z - Integers) 2 - ot )
(A) NoW->Q->Z (A) NoW-o>Q->2Z
B) No>oQ->Z->W (B) NoQ—»Z->W
C) No>W->Z-Q (C) NoW-Z-5Q |
D) WoN->Z->Q (D) WoN->Z-5Q
= i W w1 & forg wm 12000 [£e
U \C \2 = "é"‘ Space for Rough Work
92> 1O i Ga? b&: |200& - B
&wb AL =8 A L TS TR SR
AL ?fL SCIGA 2 vo
/cg- a A i@ 1.2 ¢ UR K P [REe0x Ly (s
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98. “Sum of two odd numbers is an even | g8. 3 o :ﬁﬁ ? ! \
number.” How do you prove it ? i &
(A) et @
(A) by observation i &
(B) by experiment B) 2
(C) by logic () % 3
(D) empirically (D)
ian HTEH B
9. Process of learning mathematics could be |  99. TR i # Al L
easy if
il $ AR |
(A) teaching plan should be prepared on (A) Eﬁm{ R T
the basis of hierarchy
Frayromd T &9 # wogmd
(B) all concept should be explained (B) ™ w n
concretely a5 R
(C) general thought should be specified (C) = l S f‘mm
(D) use of mathematical symbols should (D) Tt st IR
be minimized L
100. In class 4, a teacher asked the students 100. a4 w Freeh fereRia 1t 3476 3y g,
to add 3476 and 937. A student 1 9 w0 % R FE R | 0 o
responded to the question as follows e i fregEn e e #
ok 3476
e +937
12846 12846
The response reflects that the child lacks 7 viobr aw G AR e A Ry
the
(A) Skill of addition (A) A F Fhere
(B) Concept of place value (B) W 7 #t srauron
(C) Skill of addition by regrouping (C) T grar 4m & v
(D) Concept of order property of addition (D) ¥ % wet 3w A araymom
1 . 1
101. Sohve: 5[ {-2(2+3)*20}/2] 101, wwhd: S{-22+9) 20/2]
5 5
A 2 (B) -10 (A 3 (B) -10
18
(©) 50 O + ©) 50 o 7
& ®d & forg wrm ”
Space for Rough Work ~ = 50V
%o@' an Hor Bo% A1 d
* =2% S nodin tgoxg*
¢~ )% 2074 &
~ «/f\‘ 3 D -18- 2__ s.',ﬂ
) %Q“L - ~ o
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102. Match the followin ' fraferfaa &1 firet # |
g. | 102. VI
Column - | Column - Ii e - | o
- : . ' h i
a Equn_:,aienl fraction i, Proper fraction a. Tz—ﬂ qa fira 2 i. 3fed
o 9 wafe
b Equivalent fraction ii. Improper fraction | b. 75 F e e "
of = is
15 21
7. 21 7 i, =
C. 37 '8 i, c. 1—1"3 i Sg
19 .3 19 iV, =—
d < is v. = d — 2 =
a b c d abc d
(A) i v (A) i v
B) iii v i i 8) ii v i i
C) v Wi (C) iv i i il
©) v i i i (D) iv i Qi
103 Rs. 4,800 are divided among P, Q and R | 103, %. 4,800 % P, Q@ R # 3 san fnrfom
In such a way that the share of P is 5/11 of o e @ fo6 P &1 R, Qmﬂ_ R*W
the combined share of Q and R. The share e %1 5/11 2 | Q&1 fewn RG@ P & 6
of Qis 3/13 of the combined share of R and e %1 3/13 % | 37@: R+ W= gm
P. Thus R will receive
(A) Rs.300 (B) Rs. 3,300 (A) ¥ 300 (B) %3300
(C) Rs.1,500 (D) Rs.2,400 (C) ¥.1500 (D) ¥ 2400
104. Two trains X and Y travel from Ato B at | 104. @ 37 X @@ Y %aw: 80 fmft/uer afk
average speeds of 80 Kmvhour and 90 kmvhour 90 fft /ger 1 3t fa @ A @ B @& I
respectively. If X takes an hour more than Y FA R XTI F R Y 1 v ol At
for the journey, then the distance between R, @ AW B % 9w gl gt
AandBis
(A) 360 km (B) 720 km (A) 360 faft (B) 720 fapft
(C) 540 km (D) 630 km (C) 540 fadt (D) 630 et
105. °'A’,'B'and ‘C' cando a piece of workin 20, | 105. ‘A’, ‘B' 3R ‘C' & ®1 =+t 20, 30 3tk
30 and 60 days respectively. In how many 60 fiAt & = v 2, AR TRF diwt
days, can ‘A’ do the workif he is assisted by 'B' 3R ‘C’ gR1 TEEan Ter & I -g’ a A’
‘B and ‘C’ on every third day ? 38 Fd H fpan fAT d s & 7
(A) 12 days (B) 15days (A) 12f& () 15f=
C) 16days (D) 18days (©) 16fe (D) 18fe
' & T & oo em ) Co
3 Space for Rough Work o o !
T A 0 b 0 g
(® " 6 QO k) ! i
S RN S
o okl o P 2o O Set-D
. Y t 7 - \ \(L:
\ '9_:\ \ A Jo 1 |
ﬁllg A, 0 e ’iO /.@ " 10 1|
A S B -8 ) P
— {_' G % lg\: So o ¢
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107.

108.

109.

110.

11,

Which of the following sequence of

is most appropriate to

develop the Working skill in children at

abstract |eyg| ?
(A) Symbolic —
(B) Concrete _
(C) Pictoria|
(D) Symboji

concrete — pictorial
Pictorial — Symbolic
= Symbolic — concrete
C - pictoria| — concrete

The Statements that have been derived

logically from self-evident statements, are
known as

(A)
(B)
(C)
(D)

defined Statement

undefined statement
proof

theorem

Method to reach the result on the basis
of repetitive and simil
called

(A) General logic (B) Specific logic
(C) Deductive logic (D) Inductive logic

ar experiences is

Which of the following percentage is
equivalent to 0.275 ?

(A) 27.5% (B) 2.75%

(C) 0.275% (D) 275%

How much time will it take for an amount of
Rs. 450 to yield Rs. 81 as interest at 4.5%
per annum of simple interest ?

(A) 3=5Years (B) 4 Years

(C) 4-5Years (D) 5Years

An article when sold at a gain of 5%, yields
Rs. 15 more than when sold at a loss of 5%.
The cost price will be

106.

107.

108.

109.

110.

111,

01223/FE - ETF/ELQ

Y
Tl o I TR W FE &) ofy
mtmm*‘m-mmmf%
o & ? \
(A) ST~ 31 - Fermeg

(B) 3T -t

(C) TNty

(D‘) mﬂ;-m"m
@Wﬁﬁﬁfﬁﬁmﬁﬂﬂ?ﬁmm:
m &, e & |

(A) wRonTfa FeA

(B) amfonfya wem

(C) Iuufa

(D) ¥4

vl MR AT B Y a3,
WA ok TESH ATt T gy 4

(A) =WH T (B) fafe
© frmad (D) s

Fefeea % & - wfw 0.275 Fammy:

(A) 27.5% (B) 2.75%
(C) 0.275% (D) 275%

3. 450 TR W 4.5 yfeera @i @ @ o
N TR 3. 81 Wd A & fordt fvem &
7

(A) 3-5ad  (B) 4=

(C) 4-53§ (D) 5ud

T T T 5% 3 7 W e 8, 7
N TR R A I 15 7y s TEL
% | 39 g 2

(A) Rs. 150 (B) Rs. 450 (A) %. 150 (B) %. 450
(C) Rs. 700 (D) Rs. 950 (C) %. 700 (D) %. 950
= ™ &Y % R e
Space for Rough Work . - 3. 3
S © A s K4 *\_X'bﬂ
,» 112‘/-—19 ns° 4}* :
q*? & D‘f e = QN g \p"’ -
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Sass ars i "a%nsﬁucme 12, ﬁmmﬁmwmmi
2 To e g e g 1w R AR R v e |
L v\e -
S ing.
3. Toheips 2. WEY ¥ e weg = |
&?Mt%;\t;;wm* 3. 3w T W ¥ e
nki
4 To E'Etl'hech' H T w= |
Oouidnotlea:mn + What they 4, iﬁ%aﬁmﬁémﬂﬁiﬂamii
A) 1.2 3
C) 3.4 1 :g“ i‘a”" A) 1,2 3 ®) 2,3 4
) 415
Choose C) 3,41 ©) 4,12
A O“u;uml S N 3. @ v wf
S%’me 7 Mathematics (A) ﬁmﬁmm%ﬁam&
B) Chid has _ Chers, S
s me::’"‘&edﬂwedeﬁnmon (B)aéaﬁqmmvm%mmitsﬂ
Mean Underg
, tands the SR N Ty R |
(C) “Bwb%ﬂmmw () Wmﬁﬁﬁﬂmm
iudﬂ&entoiearnﬁaﬂwﬁcs gmaqq}q§|
D) Having the KNowledge of co $ MWy A H
: ‘ ncept. D) sFEumen § g 2 w ™
Children Can fing th .-
So*veonmeirown_ © Procedure 1o mm{gm§|
! Kilogram is equal 1o 4. 1 5eom e @
(A) 10 grams B) 100 grams (A) 10 (B) 1007m
€) 1.000 grams (p 10,000 grams © 100w (0) 10,000um
Which skill developed By a child is an

115, ﬁmﬁmﬁam%m
exampie of Banking modelofleanﬁng?

-H e e ¥
iﬁmlﬁgammt ?
(A) Gevelops his own understanding baseg (A) msfmn;ﬂgﬁm%mmm
- . RRER o)
onhtswrroundmg -
8) memorises a chain of instructions ang (B) ﬁiﬁ?%mﬁtmmmw
| | =
it
(C) umemom.srisesmefactsandexp‘ainsﬁ (C) Mﬁmmtmﬂmwt
(D) after soiving a question, solves another (D) Wmﬂﬂﬁ%m'&mﬁ{m
| similar question S T v R
T mwﬁ%ﬁw
Space for Rough Work \
— > Qg QAc
!-SC—'": 05
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116. Paulo Freire has discussed on w

hichmoder[ 116.

01223/FE - ETF/ELG -y
S 3 3 e ¥ Fre Hew WA A R

of learning ? .
(A) Programming model (A) STfET HTSE
(B) Banking model (B) #fdem ATS
(C) Constructive model (C) TS WIS
(D) Self learning model (D) ¥ AT HISH
117. Which of the following statements are | 117, ﬁﬂﬁfﬁ‘iﬁﬁﬁaﬁﬂ—iﬁh } HYA T Ay
related to Programming Model ? § dafta 8 7
Statements : WitHl: s .
femm Ed
1. To keep the knowledge in mind and 1. x :2" | A T T W
talk about it whe ded. )
ut it when nee 2@@@3?@1}%%?,%*'
2. Children learn in the same way, Ry ST B TR
learning speed can be different. 3 T e 9 3 g ®7 8 T
3. Children actively participate in the M
learning process. 4, e el # A 2
4. Learning happens in parts. e
(A) Statements 2 and 4 (A) ®U7 2 4
(B) Statements 2 and 3 (B) %uT 2 3 3
(C) Statements 1 and 4 (C) e 13 4
(D) Statements 1 and 3 (D) ®& 1 3 3
118.  What least number must be added to 6072 | 118. 6072 Ht i & =71 & Tord 3udt +h-wh
to make it a perfect square ? AT FEAT g I 7
(é) 6 (B) 10 (A) 6 (B) 10
(C) 12 (D) 16 (C) 12 (D) 16
119. Find the greatest number that will divide | 119, % we@ &< w&AT T AT I 43, 91 3l
43, 9.1 ancf 183 so as to leave the same 183 % Rywifira =t a1l W RUfY & Swwer
remainder in each case. T @ |
(A) 4 (B) 7 (A) 4 (B) 7
(C) 9 (D) 13 C) 9 (D) 13
120. ?ggragelof 4% ngmt;irg isﬂ:t ifthe number | 120. 40 &3t 1 3iwd 71 R, af s@m 100 A
replaced by , then average is 140 ¥ wfeeenfig fe
increased by T 8, A She ﬁg& &
(A) 3 (B) 4 (A) 3 B) 4
SILE {0) 1 (C) 2 (D) 1
e 0> - \  Space for Rough Work e Y
' WO - p g “3 73 . “\%,g?"m@v
‘-\IL)(\’.; ' %L\Q -22- '}/ g T i "”\-\’6 q #4° D
P > = (o %a W0 e oS Set-
./" U 60:\,.-’ v *4\ ue
AX e .Jk%__ 9.1
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watERoT T

121, For reading of m
o 8p which skl | 121, it 1};:: i ® gt % g smavs
A) E ? ;
(A) e::cellem ransmission skl 1o bring out (A) IR U WYE FETE T
591 o g 0 s (B) T T O st v e
_ g
(C) ::glgfi to unders.tand places, distance (C) =i, gft o fem & wmw fufy A
o rection With respect to position wg T
xcellent drawing and painting of skil (D) IeFe g o dfén Hherw
122. hM::;dW&:‘ ‘«;’n & trip, when he retum back 122, W I T o1 qU7 Sliet I AU Ham
| c assmates that he travelled the  waman o6 9 WA & el o st ot
ongest Natlpnal Highway of India. Yoy have ) I HTh AT R, M ATH T R 6 A
to tell on which of the following tour he was 2 & Q el 7% B IE w6 I R
(A) From Ladakh to Tamil Nady (A) T @ qiEETg a6
(B) From Varanasi to Kanyakumari (B) TR ¥ FHATHAR T
(C) From Gujarat to Karnataka (C) T ¥ FAleH q
(D) From Delhi to Amritsar (D) Teeett & angee 7
123. Sarita is a teacher in primary school. After | 153, fta T st foremer # Rifren &1 vt
teaching a lesson in Environmental Studies, AT & TH FHH § U3 TR % §E IX goat
she ask some questions to students. She also
ki Wit el & o6
added that assessment to right and wrong will %W;:;L;m ! - F: :::;wﬁ W=
notbe done while answering the question this ®™ o o
was said because i e | % FE
(A) Sarita adopted this way to minimise (A) ®Rar 3 FHiwew & vy a8t 1
assessment fidelity A % Tore % wlie aremn 2
(B) Sarita knows that primary students can (B) wiar i Ao & 6 wufs = ¥ w=2
not reply correct e T R T
(C) By this way Sarita wants to know that (C) wfen w& ot ¥ 7w van T wmedt R
how students are leaming and how it is & a2 ¥ dw @ ¥ o o R ¥
helpful for next day lesson s & ford vt v el
(D) None of the above (D) It & @ rf T
2 ") 5 "D I 25 Space for Rough Work & R ;“g '1
. 1 ]r_(-r__ L\.“ l y a
;5- 1 s f) | ! q ‘Er' >
L @ .23. Y Ry 3\ ?? Set-D
o= 2 puP " Taq 3!
QU 1e4el to 3%
\ U s 3917
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Ky o
124, Tobacco smoking causes inflammation of | 124, e W YT W b ﬁ%\
lung alveoli and causes oy & L wm ¢
(A) Lung cancer (A) ¥y w1 HE
(B) Emphysema . (B) THRIAHI
(C) Pulmonary T.B. (C) TP a
(D) Bronchitis (D) wrwTEE
125, Caffeine is a stimulant present in 125. ¥R T A= R AN o ?
(A) Coffee (B) Tea (A) ®TH 7 | (B) s &
126, Which of the following plant possess = 126. fffys & & fw O 3 %Fﬂﬁ‘r-ﬁ'éh
hallucinogenic properties ? mRIRT?
(A) Dhatura (A) &g
(B) Atropa (B) @
(C) Erythroxylon (C) W=
(D) All the above (D) Iww it
127.  According to National Curriculum Frame | 127. T TIg@=a FRAT (NCF) ¥ 35w% =
Work (NCF), the knowledge of environment | 3R 1% fore wataor sremgm ) R o
s given by Maths and Language in Class I* | T G & WeEw | @ I R W e
and I No text book and Syilabus of EVS | R Jeww & fore 9 wrgmmn sk
is available for these classes. Reason for | TS T8 R T Te e R
this is
(A) To correlate their near by environment (A) T A FTEIE ¥ TR Y T
with them and give them knowledge of FE T & §Y F AW € & W
EVS indirectly in a simple way | T e v s
(B) EVSis meant for students above Class (B) waiwwr svemgs € afemm o 112
- % Bl % fiyu @
(C) Students of Class | and Il are not able (C) =& | 3Kk | ¥ o wiaw 3oF ©
to grasp EVS Syllabus TIEHH TEV A & waw T wR b
(D) To minimize the extra burden of (D) W= % 3w} v — Ww&’-
curriculum over the students T wE
& &1 & i
Space for Rough Work
24 set
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128. Why is it easy for a person to swim in river | 128,

01223/FE - ETF/ELG - M

H F R 6 el s % R @ ¥
water as compared to sea water ? Because f N ana o ¥ 5@ 3 ¥ s W W
. _ BT} 7 Wifs
(A) Sea |§ broader than river (A) W T & s <t g 2
(B) Density of sea water is less than river (B) &Wg F T $1 U9 T8 ¥ T B TG
water 3w g
(C) Sea is deeper than river (C) uqz 7& ¥ afir mew dran R
(D) Density of sea water is more than river (D) WYX & T H T7cd 74! & T Bl oA
water 3 i B 3
129. Which Psychologist gave special 129. fm wrdwive 3 wiaw w fady ww@ e
importance on Environment ? qr ?
(A) Rousseau  (B) Kurtlevin (A) & (B) e
(C) Thompson (D) Socrates (C) urwEA (D) gHud
130. The person who invented the polio vaccine | 130, diftrat dFeflT #! @i Tt ot =t &
was
(A) Jonas Salk (A) FHTE T
(B) Joseph Stalin (B) e wferd
(C) Edward Jenner (C) TEaE I
(D) Theodore Roosevelt (D) frirER wEdee
' &1 AT
131. Study the following pairs of nutrients and | 131. PrafaRed dwst @ 37 &t
their sources. S | i e
l. lron — Amla and green leafy . SRR i
Vageaes ¥Fen @ fbw forr amae
Il Vitamin C — Banana and fish I fafm C - @
liver oil e e
. ¥fEw - "W @
IIl. Calcium - Meatand yeast ] _
\v. Chiorine - Salt and seafish V. T e T wgg weferat
Identify the incorrect pairs. e ) A —
' B
(A) land IV (B) lland Il (A) l‘!ﬁ" v (D> iy
() land Il (D) lland IV () @il (@)
———— & H & g W s’x(cqqt@xu‘?no
Space for Rough WOI’k I ﬂ
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132. 120 J energy is trapped at producer level, | 132, f} 3eree W T 20 J FAt 30 ) 5y :
then how much energy will be available aa w3 ferq Preferfea @ faen % ﬁﬁ:ﬂ
to peacock as food In the following food 91 Jyerey Bt 7
chain ?
Plant > Mice > Snake > Peacock > R > 7d > 51
(A) 0.02J () 0.2J (A) 0.02J (B) 0.2J
(C) 0.002J (D) 0.0004J (C) 0.002J (D) 0.000J
183. Think over the following statements. 133, Pr=rferfias st w faem $ifmg)
1. To make people aware about 1. i Fafta TR F 9 ey,
environmental Issues. ¥ w5
2. To avoid environmental studies at all 2. wiw foan o Wl w IR 3
levels, HT
3. Strict and peaceful atmosphere for 3wl fawm & fo w3k 7 Wf%{m
human development. TR TR |
Which above statements are correct I weAl A T Ren A, 1986 F e
according to National Education Policy, TR GE R ?
1986 ?
(A) 2and3 (B) 1and3 (A) 293 B 133
(C) Only 1 (D) 1,2and3 (C) e 1 (D) 1,293
134. On the map of a locality “KOPRA” it was | 134. S m & AARE R R o
written that " 1 IR = 175 e |
‘Scale 1 cm = 175 metre'. RAAREARP alk Q m%m%ﬁﬂ{ﬂ
If there are two places on map named 10 B-ddie &, ﬁfaﬂéﬁiwﬁi%ﬁaﬁ@%
P and Q having 10 cm distance. Then their
distance is
(A) 1800 meter (A) 1800 Wit
(B) 1.75km (B) 1.75 fmiriex
(C) 1750 cm (C) 1750 ¥rfx
(D) 1075 meter (D) 1075
& w1 & forg wam
A Space for Rough Work
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135.

136.

137.

138.

All of the following are expected whi
studying environmenta g eme:::ihlla

(A) Personality davelopment ofa

student

(B) Accepting the excellence of science
text book instead of reg observation
(C) Toincorporate criticism, analysis and
problem solution finding

(D) Toincrease abundancy of context and
reference

Pyorrhoea disease is caused due to
(A) Entamoeba Histolytica

(B) Plasmodium

(C) Leishmania

(D) Entamoeba Gingivalis

If we observe birds, we find that most of the |
birds often move their neck. It is because
(A) Their ears are covered and they can fly
(B) The birds have two eyes ‘
(C) Their eyes can focus on two different |
object at a time L
In most of the birds, the eyes are fixed ‘
and cannot move |
|

!

(D)

Rama loves mangoes. He want 10 preserve
these for winters. Which of the following is
a good way of preserving them ?

(A) Prepare juice and store it in airtight |
container |

Put it in plastic bags ;
i i
Store it in refrigerator ‘

(B)
)
(D)

Make aam papad and pickle

135.

136.

137.

138.

01223/FE — ETF/ELG —M

mmtﬁrmmﬁ*ﬁ?"ﬁ
bresfefign weh arga s b

(A) w13 ¥ s 1 O FA

(8) areafas A A TN T
ﬁmﬁmﬂmm

(D) wmmmawama

arafan e T F A ¢

(A) veandn fefefea

(B) rHITEaH

()

(D) et famaterd

mﬁwmﬁmwwﬁiﬁm

mmw&aﬁilwmﬁ%ﬁs

(A) ﬁmﬁﬁim%ﬁmt

(B) it H QA E

(€) % 33 2 for-firm aegeli 4w @ FH
T PIHE AR &

(D) e okt % 3 fow @ & ol o
7

M W TE B R 9 R I3 &

for wfa won wrgan 1 Prefafes § @

P-m vl Fw & forg Jvgw R 2

(A) 9@ e I g fesl F Wl
Cacf
(B) T i & i § w@

(C) ot # wfem &
(D) €M Td AW YI9§ T

—

deilife‘mm
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139,

140,

141,

142.

143.

Individualistic family pattern is fastly
Increasing because of the following

(A) Westernization

(B) Imagination of free life style

(C) Population explosion and inflation
(D) Both (A) and (B)

Egg is rich source of
(A) Protein (B) Vitamin
(C) Minerals (D) All the above

Malignant tertian malaria is caused by
(A) Plasmodium malariae

(B) Plasmodium ovale

(C) Plasmodium falciparum

(D) Plasmodium vivax

Which among the following is not included
in project work ?

(A) to create environment

(B) to record

(C) to apply or implement

(D) to give specified feedback

Arpita is a primary school teacher. She
wants to organize a science exhibition in
school. According to you which objective
is fulfilled by this ?

139.

140.

141,

142.

143.

01223/FE - ETF/ELG -,
e v st % A 8 A H oy

(A) eI |

(B) w@da egF RIE Hl Fe
() v faewte T TR
(D) (A)wd (B) @l

e foreent O A 2 7

(A) S (B) faerfim
(©) afr (D) It &t

frferfaa § & T ofEeAT 6 & HE
it & T # 7

(A) Rfedfa s e

(B) Twhrs &

(C) WP T A1 FHrif=d BT

(D) fAfdse wfafsramd 3

Frftfar i forae 6t o it € | =8
I faarerm & ©w fawm wevt w1 s
FE1 ATEd 81 a9 e & Fffes & @
HH-T1 IYF Faiften I9ga BT 7

(A) Taaem 6 wfifg & fee

(A) Publicity of school
(B) To create a learning environment for (B) e % for gomToreh Mew Iverey
education % fom
(C) To satisfy their parents students (C) faenfRRi %t 37 frTaehi + Hse F
+ forg
(D) To trained students for various (D) fafira sreraml & fore franfefai =t wifim
occupation T
& w1 & femwm
Space for Rough Work
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145.

146.

147,

While during experiment in

sch
which of the following s 00l laboratory

not developed ?
(A) By doing Xperiments
students develop the abi

analysing, obseryin
decision

in laboratory,
Ihyofthlnklng.
9 and taking
(B) It incorporates self confidence and
discipline

(C) Inabsence of |aboratory students gain

true knowledge of science

Wh?le working group in laboratory
social value develops in students

)

Which one of the following occupies more
than one tropic level in a pond ecosystem ?
(A) Zooplankton

(B) Phytoplankton

(C) Fish

(D) Frog

Which of the following has the largest
population in a food chain ?

(A) Primary producer

(B) Secondary consumers
(C) Tertiary consumers
(D) Decomposers

Which one of the following is a sedimentary
type of biogeochemical cycle ?

(A) Phosphorus and carbon monoxide
(B) Oxygen and nitrogen

144,

145.

146,

147.

01223/FE - ETF/ELG ~M

i i 3 % oA A A
e bt 2 T e 5 8
o fefire 7

®) e 1§ Hrefava™ A CICHILE] #
3 1 5 A 8

©) e ¥ v & g #
a1 9T T B R

(D) e # e = 8w A
o s T 7 Faee e &

e & e a7 # fe A A

g e e e A 7

(A) g <

(B) LI RSSEED

(C) wae

(D) ¥

P & i e s e s

3 g T 7

(A) T IS

(B) fedftae smita

(C) et swvire
(D) IUETH

frforfge % @ #1 sEEd TER H
SRS T 2 7

(A) HEHITE T e TR
(B) ifaor T TrgIom

(C) Phosphate and nitrogen (C) wiehe Td ATgIoH
(D) Phosphorus and sulphur (D) GRRE @ HeHt
T T & oy T - -
Space for Rough Work
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148. Shalu buy a railway ticket for unreserved

149.

150.

bogie to travel, which information can we
get from the ticket ?
-1. Bogie number and bearth number
ii. Starting and ending joumey station name
iii. Traveller's name, age and sex
iv. Rate of ticket
v. Train number and name
(A) i, ii,ii,ivandv (B) i,iiiandv
(C) iiand iv (D) None of the above

On 22 March 1992 United Nations Conference
of Environment and Development in which
city international initiative for World Water
Day was taken ?

(A) World Water Day international initiative
was organised in Nairobi, Kenya
World Water Day international initiative
was organised in Capetown, South
Africa

World Water Day international
initiative was organised in
Rio-de-Janerio, Brazil

World Water Day international initiative
was organised in Tokyo, Japan

(B)

(€)

(D)

Neelam is teaching in her class about birds,
suddenly Vidya asked a question why birds
move their neck so many times. What will
be Neelam’s answers of the following ?

(A) Due to moving neck birds are able to fly
(B) Due to moving neck food from mouth
easily and quickly reach to stomach of
birds

By moving neck bird can be talks in
gestures with other birds

Because eye ball of birds is
immovable

(€)

(D)

148.

1409.

150.

(B) i, iii 3y
ﬁﬁwm@m@ﬂmﬁmmﬁ
op 7 1992 & ST AN e
$-§-§ﬁu§;ﬂﬁﬁqﬁiﬁ’ﬁf off 7

Hifran 7 srEAfAE A T
fva it TeEm Y AT TEA e
2o afi o AT B

(©) ﬁﬁatﬂﬁﬁaﬁﬁ_mqﬁﬁ@l-
A-f, Frie § A B

(D) farva vt femw HAUG T8t ),
e o e 6

frem araft e o w= Y Ui % aR A
@ oft| s faenm 3 weR foma o6 et
T3 <qey i et Tt & 7 e Fretfein
3w I e 7

(A) T feem & @ uah 3o i wem A
(B) e Teetm & waft 1 g H @ Fed @
# =l e 2

(C) T Tk o 78 gE wfkdt & g A AT
W HFA &

(D) wife sfert &1 srrat H et g 7
! B

(A)

(B)



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

	Template for PYP PDFs - Acrobat PDF - 1st page.pdf
	Blank Page


